ABB BK
Arosserien 2 2:a

IMP over faltet, 22 bord, 44 par. Antal brickor: 12.

Plac Par Poéng Namn MID
1 202 3.29 Mats Andersson - Thomas Cedervall 17949 81067
2 302 2.76 Lars Marjoniemi - J6rgen Lundberg 14508 7657
3 109 2.39 Torsten Andersson - Robert Andersson 38511 52086
4 7 2.29 Bengt Nilsson - Hakan Lindback 18043 2658
5 1 1.79 Stefan Andersson - Claes Ahgren 13753 2664
6 205 1.37 Hans Jonsson - Kjell Eklund 85132 51491
7 103 1.14 Hans Thorgren - Jan Fredell 7926 3967
8 304 1.12 Lennart Ekholm - Christer Astrém 50946 38022
9 11 0.95 Jan Héléne - Carina Héléne 56651 56649
10 9 0.75 Kjell Persson - Hakan Carlsson 55343 48227
11 101 0.73 Rainer Trapp - Torkel Petersson 36579 9894
12 203 0.65 Elisabeth Stanley - John-Erik Hornfeldt 8807 4866
13 307 0.61 Zenon Grajek - Hernando Slottsdahl 11752 8996
14 305 0.55 Erik Lindel6f - Gunnar Wilén 3973 42658
15 106 0.42 Solveig Bystrém - Nils Andersson 57019 3543
16 311 0.33 Ingvar Bengtsson - Jaakko Sarasalo 39842 18690
17 6 0.32 Rolf Forsberg - Lotta Engvall 13471 49663
18 210 0.18 Gunilla Méllervarn - UIf Bergdahl 28524 11639
19 110 0.07 Bengt Larsson - Sujata Sardesai 32964 32532
20 4 0.02 Asa Andersson - Erik Andersson 7928 3992
21 204 -0.02 Per Eriksson - Kjell Staffas 19493 34308
22 310 -0.07 Ritva Norman - Bjoérn Norman 59428 59429
23 10 -0.18 Bjorn Larsson - Karin Larsson 34663 34647
24 206 -0.32 Mats Bodén - Per-Erik Eriksson 80071 23457
25 111 -0.33 Ann-Christin Carlsson - Karin Nordlander 64919 64918
26 306 -0.42 Peter Bjornberg - Mikael Engvall 50796 49662
27 105 -0.55 Helena Lindholm - Mikael Andersson 49544 92752
28 107 -0.61 Lennart Karlsson - Tord Jonsson 2871 2867
29 3 -0.65 Ann-Cathrine Hagstrom-Blomqvist - Rolf Blomquist 10478 2721
30 301 -0.73 Peter Forsberg - Hans Eklund 51490 20565
31 209 -0.75 Murari Saha - Marianne Ekholm 38294 35604
32 211 -0.95 Casper Carlsson - Jan Carlsson 64920 64916
33 104 -1.12 Héakan Lindh - Anders Lovling 6055 18166
34 303 -1.14 Mikael Eliasson - Benny Karlsson 63 9893
35 5 -1.37 Bjorn Gjorwell - Sven Helmersson 13439 5846
36 201 -1.79 Par Andersson - Lennart Fredriksson 12130 9424
37 207 -2.29 Rolf Andersson - Leif Rick 87449 87414
38 309 -2.39 Kristina Ronnback - Gunilla Rydberg 45336 45333
39 102 -2.76 Bo Wiker - Ake Fransson 4014 7976
40 2 -3.29 Johnny Ramsten - Tommy Lindstrém 90802 38791
41 8 0.00 ---5--- - BK ORJAN - -
41 108 0.00 --- 6 --- - MIX - -
41 208 0.00 --6--—--MIX_ - -
41 308 0.00 ---5--- - BK ORJAN - -
13 4 Kn1042 14 & KKn54 15 4 K9
Nord v EKn104 Ost vE106 Syd vKn2
Alla +32 Ingen ¢ EK9 NS + K862
#E109 *E75 #KDKn92
» EK6 4985 4~ E82 41076 4EDKNn10 475
vK7 v 986 vDKn3 v K872 vE104 v K965
+ E10 + K985 4764 +D1085 +1073 ¢ DKn54
#Kn86432 &#KD7 #Kn1062 #D3 #1086 »754
«D73 « D93 486432
v D532 v 954 v D873
¢ DKn764 ¢ Kn32 ¢+ E9
5 K984 #E3
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1201 2vS= &2 110 128.0 -128.0| 7 207 3NS+1 #J 430 132.0 -132.0|107 307 3NN= ¢Q 600 201.0 -201.0
5205 2v N= «K 110 128.0 -128.0|105 305 3NN+1 ¢5 430 132.0 -132.0| 4 204 2NN+1 v5 150 29.0 -29.0
6 206 3« V= &T -110 29.0 -29.0|110 310 3NS+1 #2 430 132.0 -132.0| 9 209 2NN= ¥5 120 13.0 -13.0
7 207 3#V= a4 -110 29.0 -29.0| 6 206 3NS= &2 400 124.0 -124.0 {109 309 INN+1 ¢Q 120 13.0 -13.0
11 211 24V +1 44 -110 29.0 -29.0|104 304 3NN= 45 400 124.0 -124.0|110 310 2NN= ¢4 120 13.0 -13.0
101 301 3#O= ¢3 -110 29.0 -29.0| 2202 INN+2 ¢5 150 12.0 -12.0| 1 201 24 N+1 47 110 8.0 -8.0
103 303 3& V= &J -110 29.0 -29.0| 1201 2NN= 7 120 20 -20| 5205 2« N+1 47 110 8.0 -80
104 304 24V +1 ] -110 29.0 -29.0| 4204 2NN= 2 120 20 -20| 7 207 24 S= +3 110 8.0 -8.0
106 306 2# V+1 & -110 29.0 -29.0(101 301 INN+1 v7 120 20 -20| 10 210 2« N+1 v6 110 8.0 -8.0
109 309 24V +1 43 -110 29.0 -29.0(103 303 INN+1 »7 120 20 -20| 11 211 2vS= #6 110 8.0 -80
10 210 24V +2 vA  -130 18.0 -18.0|111 311 INN+1 T 120 20 -2.0(102 302 24 S= +7 110 8.0 -80
105 305 3V +1 v4 -130 18.0 -18.0| 9 209 14 N+1 #Q 110 -8.0 8.0(104 304 24 N+1 «7 110 8.0 -8.0
110 310 24V +2 43 -130 18.0 -18.0(107 307 INN= #2 90 -16.0 16.0|106 306 24 S= ¢3 110 8.0 -80
4 204 INV+2 &4 -150 9.0 -9.0( 3203 3NN-1 46 -50 -84.0 84.0|101 301 INV-2 &K 100 20 -20
107 307 2NV +1 4] -150 9.0 -9.0| 5205 3NS-1 &J -50 -84.0 84.0|111 311 INO-2 ¢A 100 20 -20
3203 INO+3 vT  -180 -9.0 9.0 11 211 44 N-1 v2 -50 -84.0 84.0|103 303 2¢ N= ¥v6 90 -6.0 6.0
9 209 INV+3 v4 -180 -9.0 9.0(102 302 3NS-1 vQ -50 -84.0 84.0| 3 203 Pass -49.0 49.0
102 302 3NV = 44 -600 -170.0 170.0 {106 306 3NS-1 42 50 -840 84.0| 2202 3&4N-1 47 -100  -94. 94.0
2 202 3NV +1 4 -630 -186.0 186.0| 10 210 BNN-2 v7 -100 -111.0 111.0| 6 206 24 S-1 3 -100  -94.0 94.0
111 311 3NO+1 ¢Q -630 -186.0 186.0 {109 309 3NS-2 &J -100 -111.0 111.0 {105 305 34 S-1 +3 -100 -94.0 94.0
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16 + 83 17 « K8 18 » K1064
Vast v EK5 Nord v K1097 Ost vE532
ov ¢ 10543 Ingen ¢+ 43 NS ¢+ E9
#9765 #D8765 #EKn10
2K1097 «D5 «ED3 # Kn10652 473 # DKn9852
vD10874 92 vEKn862 v43 v 107 vK8
+6 ¢ KDKn972 + 1096 ¢ KDKn2 +K854 +106
#EK8 #D43 *94 *K3 #K6542 #983
« EKn642 4974 s E
v Kn63 vD5 v DKn964
¢+ E8 ¢ E875 ¢ DKn732
#Kn102 #EKn102 +D7
Par Kontr Ut Res Poang Par Kontr ut Res Poéang Par Kontr ut Res Poang
7 207 3NV-3 #6 300 130.0 -130.0| 1 201 3# N+1 #K 130 103.0 -103.0| 6 206 6vy S= 48 1430 253.0 -253.0
101 301 3NV-3 #6 300 130.0 -130.0|111 311 3#S= ++T 110 91.0 -91.0| 1201 4v S+2 47 680 23.0 -23.0
109 309 3NV-3 #9 300 130.0 -130.0| 9 209 44 O-1 vQ 50 62.0 -62.0| 4 204 4v N+2 4Q 680 23.0 -23.0
4 204 3NO-2 #J 200 88.0 -88.0| 4 204 Pass 36.0 -36.0( 5205 4v S+2 47 680 23.0 -23.0
110 310 3NO-2 44 200 88.0 -88.0| 7 207 Pass 36.0 -36.0(101 301 4v N+2 «Q 680 23.0 -23.0
1201 3¢ O-1 #J 100 42.0 -42.0| 11 211 Pass 36.0 -36.0(103 303 4v S+2 45 680 23.0 -23.0
9209 3NO-1 42 100 42.0 -42.0|101 301 Pass 36.0 -36.0(105 305 5v S+1 47 680 23.0 -23.0
10 210 3NV-1 «9 100 420 -420| 2202 14 O+1 ¢A -110 -22.0 22.0|106 306 4v S+2 47 680 23.0 -23.0
11 211 3NV-1 #6 100 420 -42.0| 3 203 24 O= #4 -110  -22.0 22.0|109 309 4v S+2 &7 680 23.0 -23.0
105 305 3¢ O-1 #J 100 420 -420| 6 206 14 O+1 vQ -110 -22.0 22.0| 7 207 3NN+2 4Q 660 6.0 -6.0
106 306 3¢ V-1 #J 100 42.0 -42.0|102 302 14 O+1 ¢A -110 -22.0 22.0|104 304 3NN+2 48 660 6.0 -6.0
111 311 3NV-1 #9 100 42.0 -42.0|104 304 24 O= vQ -110 -220 22.0| 3 203 4v S+1 47 650 6.0 -6.0
3203 INO= 42 90 -39.0 39.0|107 307 24 O= vQ -110 -22.0 22.0| 11 211 4v S+1 43 650 6.0 -6.0
5205 2¢ O= 49 -90 -39.0 39.0|110 310 14 O+1 vQ -110 -22.0 22.0|102 302 4v S+1 47 650 6.0 -6.0
103 303 INO= 44 90 -39.0 39.0| 5205 3« 0= &A -140 -41.0 41.0|107 307 4v S+1 47 650 6.0 -6.0
6 206 2NV +1 48 -150 -64.0 640 10 210 14 O+2 A  -140 -41.0 41.0(110 310 3NN+1 «8 630 -13.0 13.0
102 302 24 S-3 +¢6 -150 -64.0 64.0(103 303 34 O= #A -140 -41.0 410| 9 209 4v S= &7 620 -13.0 13.0
2 202 3NV= 48 -600 -204.0 204.0 ({105 305 24 O+1 #A  -140 -41.0 410 10 210 4v S= &7 620 -13.0 13.0
107 307 3NV = 48 -600 -204.0 204.0 (106 306 34 O= &A -140 -41.0 41.0(111 311 2NN+1 5 150 -193.0 193.0
104 304 3NV +1 48 -630 -207.0 207.0 ({109 309 14 O+2 &T  -140 -41.0 410| 2 202 6NN-1 «Q -100 -241.0 2410
19 #1075 20 « Kn82 21 4963
Syd vKD Vast v KKn98 Nord v DKn102
oV ¢ K6543 Alla 410543 NS ¢ ED7
+Kn104 #EKn #D63
# EKKn 4943 493 « EKD1075 «E10854 & KKn72
v3 v EKn752 v10764 vE v 86 v94
41072 + D8 + K97 + EKn +83 + K10965
#ED8632 #K95 #10873 #K642 #Kn872  #E5
D862 264 «D
v 109864 v D532 v EK753
¢ EKn9 + D862 ¢ Kn42
&7 #D95 #K1094
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 207 5#V-1 3 100 113.0 -113.0|109 309 2NO= +6 -120 156.0 -156.0( 7 207 4v S= &2 620 179.0 -179.0
9 209 44 V-1 vK 100 113.0 -113.0| 2 202 24 O+3 46 -200 128.0 -128.0 {103 303 4y S= &7 620 179.0 -179.0
101 301 3NV-1 ¢3 100 113.0 -113.0| 3 203 14 O+4 46 -200 128.0 -128.0 {106 306 4v S= 48 620 179.0 -179.0
104 304 3NV-1 ¢3 100 113.0 -113.0| 10 210 24 O +3 ¢2 -200 128.0 -128.0 {109 309 4v S= +8 620 179.0 -179.0
107 307 2v O-1 #7 100 113.0 -113.0| 11 211 14 O+4 +6 -200 128.0 -128.0( 5 205 3v S+1 8 170 13.0 -13.0
11 211 3#V= 43 -110 26.0 -26.0|102 302 34 O+2 ¥3 -200 128.0 -128.0( 6 206 3v S+1 &A 170 13.0 -13.0
1201 3#V+1l #J -130 15.0 -150| 9 209 2NO+3 ¥3 -210 127.0 -127.0| 10 210 2v S+2 8 170 13.0 -13.0
6 206 3% V+1l ¢3 -130 15.0 -150| 1 201 44 O+1 ¥2 -650 -70.0 70.0{110 310 3v S+1 8 170 13.0 -13.0
10 210 2V +2 vK  -130 15.0 -15.0 4 204 44 O+1 46 -650 -70.0 70.0( 1 201 4eDV-146 100 -17.0 17.0
106 306 2#V+2 vK  -130 15.0 -15.0 5 205 44 O+1 46 -650 -70.0 70.0( 4 204 44DV-1vQ 100 -17.0 17.0
110 310 24V +2 ¢3 -130 15.0 -15.0| 7 207 44 O+1 +4 -650 -70.0 70.0 {101 301 44DV-143 100 -17.0 17.0
2 202 4%V +1 &7 -150 4.0 -4.0(101 301 44 O+1 ¥3 -650 -70.0 700 9 209 34V-1 vQ 50 -40.0 40.0
4 204 24V +3 45 -150 4.0 -4.0(103 303 44 O+1 ¥3 -650 -70.0 70.0 {105 305 44 V-1 vQ 50 -40.0 40.0
103 303 3#V+2 ¢4 -150 40 -4.0(104 304 44 V+1 #A -650 -70.0 70.0(107 307 44 V-1 vQ 50 -40.0 40.0
105 305 3#V+2 ¢4 -150 4.0 -4.0(105 305 44 O+1 ¥2 -650 -70.0 70.0(111 311 44 V-1 A 50 -40.0 40.0
109 309 3#V+2 ¢3 -150 4.0 -4.0(106 306 44 O+1 v2 -650 -70.0 700 2 202 4vy N-1 v4 -100 -105.0 105.0
3 203 5#V= &4 -600 -169.0 169.0 (107 307 44 O+1 46 -650 -70.0 70.0( 11 211 5¢v N-1 42 -100 -105.0 105.0
5205 5#V= +¢3 -600 -169.0 169.0 ({110 310 44 O+1 ¢6 -650 -70.0 70.0 {104 304 4y N-1 v4 -100 -105.0 105.0
111 311 3NO= +¢9 -600 -169.0 169.0 ({111 311 44 O+1 46 -650 -70.0 70.0( 3 203 34V= ¢Q -140 -121.0 1210
102 302 3NO+1 vT  -630 -179.0 179.0| 6 206 44 O+2 46 -680 -83.0 83.0(102 302 34 V= ¢vQ -140 -121.0 1210
22 aE4 23 109 24 « EK
Ost v DKn97 Syd v 1083 Vast v 9764
ov ¢+ D97 Alla *2 Ingen 41098
#Kn1075 #10876542 #KD102
4D983 aKn « EKKn4 & 76532 498643 #1072
v K32 vE1086 v K6 vE7 vD v K10852
+ K8654 ¢ EKn10 49874 ¢ KDKn1053 ¢ED4  +K63
»8 #EKD62 #DKn9  &- #Kn983 #E5
» K107652 «D8 & DKn5
v 54 v DKn9542 v EKn3
¢32 ¢+ E6 ¢ Kn752
£943 #EK3 £764
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
109 309 4v O-3 ¢3 300 248.0 -248.0| 1 201 64aDV-1¢2 200 232.0 -232.0| 3 203 INS+2 3 150 87.0 -87.0
103 303 6¢ V-1 vQ 100 202.0 -202.0 {111 311 3NV-1 #4 100 224.0 -224.0 ({106 306 INS+1 vQ 120 81.0 -81.0
111 311 24 O +1 45 -110 160.0 -160.0 | 11 211 4¢ O+1 #A  -150 173.0 -173.0 (111 311 2NO-2 ¥3 100 62.0 -62.0
3203 3¢ V+2 4A  -150 147.0 -147.0| 3 203 54 V= ¢2 -650 -23.0 23.0| 2 202 INS= 49 90 62.0 -62.0
5205 3NV= vQ -600 -29.0 29.0| 9 209 44 V+1 v3 -650 -23.0 230( 7207 INS= ¥Q 90 62.0 -62.0
11 211 3NV= ¢Q -600 -29.0 29.0(110 310 44 V+1 ¢2 -650 -23.0 23.0 ({103 303 Pass 18.0 -18.0
101 301 3NV= &5 -600 -29.0 29.0( 2 202 44 O+2 #A -680 -40.0 40.0| 1 201 INS-1 3 -50 -13.0 13.0
1201 4NV= vQ -630 -46.0 46.0| 4 204 44 O+2 #A -680 -40.0 40.0| 4 204 INS-1 49 -50 -13.0 13.0
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4 204 3NV+1l vQ -630 -46.0 46.0| 5 205 44 O+2 vQ -680 -40.0 40.0| 5205 INS-1 9 -50 -13.0 13.0
6 206 BNV +1l ¢7 -630 -46.0 46.0| 6 206 44 O+2 #A -680 -40.0 40.0| 6 206 INS-1 44 -50 -13.0 13.0
9 209 3NO+1 45 -630 -46.0 46.0| 7 207 44 O+2 #A -680 -40.0 40.0( 10 210 2v N-1 A -50 -13.0 13.0
10 210 3NO +1 45 -630 -46.0 46.0| 10 210 44 O+2 ¢A -680 -40.0 40.0| 11 211 INS-1 46 -50 -13.0 13.0
102 302 3NV+1 4A -630 -46.0 46.0|101 301 44 O+2 #A -680 -40.0 40.0({101 301 INS-1 49 -50 -13.0 13.0
104 304 3NV+1 vQ -630 -46.0 46.0|102 302 44 O+2 #A -680 -40.0 40.0|105 305 INS-1 +Q -50 -13.0 13.0
105 305 3NO+1 &7 -630 -46.0 46.0|103 303 44 O+2 #A -680 -40.0 40.0(107 307 INS-1 49 -50 -13.0 13.0
106 306 3NV+1 vQ -630 -46.0 46.0|104 304 44 O+2 #K -680 -40.0 40.0(|102 302 INS-2 44 -100 -46.0 46.0
7 207 4v O+1 ¢3 -650 -64.0 64.0|105 305 44 O+2 #A -680 -40.0 40.0(104 304 INS-2 44 -100 -46.0 46.0
2 202 3NO+2 46 -660 -64.0 64.0|106 306 54 O+1 #A -680 -40.0 40.0({109 309 3NS-2 ¢vQ -100 -46.0 46.0
107 307 3NV +2 «A -660 -64.0 64.0|107 307 44 V+2 v8 -680 -40.0 40.0( 9 209 24 V= &T -110 -47.0 47.0
110 310 3NO+2 46 -660 -64.0 64.0|109 309 44 V+2 ¥T -680 -40.0 40.0|110 310 2v N-3 3 -150 -70.0 70.0
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